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Q.1 Solve the following questions (9th std) (ANY FOUR) 4
1) Fill in the blanks: tan 30°x tan °=1
2) Fill in the blanks: sin 20° = cos °

3) Find the values of: 2 sin 30° + cos 0° + 3 sin 90°
4) Write the answers to the following question with reference to figure below:
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Write the intersection set of ray SP and ray ST.
5) Write the following statements in 'if-then' form: The opposite angles of a parallelogram are
congruent.

6) Write the answers to the following question with reference to figure below:
T S R P Q
Write any two rays with common end point S.
Q.2 Solve the following questions (9th std) (ANY TWO) 4
1) Diagonals of a parallelogram bisect each other.

2) U, V and A are three cities on a straight road. The distance between U and A is 215 km, between V
and A is 140 km and between U and A is 75 km. Which of them is between the other two ?

3) oPQRS is a parallelogram. PQ = 3.5, PS = 5.3 £Q - 50° then find the lengths of remaining sides and
measures of remaining angles.

Q.3 Choose the correct alternative: 5

1) Sides of two similar triangles are in the ration of 4 : 9. Areas of these triangles are in the ratio:
(@2:3 (b)4:9 (c)81:16 (d)16:81

2) AABC and ABDE are two equilateral triangles such that D is the mid-point of BC. The ratio of the
areas of triangles ABC and BDE is :
@2:1 (b)1:2 (c)4:1 d)1:4

3) AABC is such that AB =3 cm, BC =2 cm and CA = 2.S cm. If ADEF ~ AABC and EF =4 cm, then
perimeter of ADEF is
@75cm (b)l15cm (c)225cm (d)30cm

4) Two poles of height 6 m and 11 m stand vertically upright on a plane ground. If the distance between
their foot is 12 m, the distance between their tops is
@12m (©)14m (c)13m (d)1lm

5) In a AABC, AD is the bisector of ZBAC. If AB=6 cm, AC=5cm and BD =3 cm, then DC =
(@ 11.3cm
(b) 2.5cm
(c)3.5cm
(d) None of these

Q4 Solve the following questions (ANY TWO) 4

1) Base of a triangle is 9 and height is 5. Base of another triangle is 10 and height is 6. Find the ratio of
areas of these triangles.

2) In figure given below BC L AB, AD-L AB, B =4, AD = 8, then find




3) If aline divides any two sides of a triangle in the same ratio, then the line is parallel to the third side

Q.5 Complete the following Activities (ANY FOUR)
1) In AABC, ray BD bisects £ABC and ray CE bisects ZACB. If seg AB = seg AC then prove that ED

Il BC.
In AABC.rayBDbisects zZ[ | [Given]

.&=D

BC DC
....... 1 [Angle bisector property of a triangle]
In AABC, ray CE bisects ZACB [Given]

AC _AE
BE
....... [Angle bisector property of a triangle]
segAB=seg| [ ... 3 [Given]
S 4 [From?2 & 4]

“BC [
AD [ ]
In AABC, — =— [From 1 & 4]
DC BE
- seg[]ll side BC [Converse of B.P.T.]
2) The ratio of corresponding sides of similar triangles is 3 : 5; then find the ratio of their areas



Let A; and A; be two similar triangles with
their corresponding sides s; and s;
respectively.

— = [Given] ... 1

[Theorem on areas of similar triangles]

w = [From 1]
A4,

S AADAMA)D= |
3) ALMN ~ APQR, 9 x A(APQR) = 16 x A(ALMN). If QR = 20 then find MN.
9x A (APQR)=[ |x A(ALMN) ... (Given)

. 9 _AQLMN)

16 Al )

L Aanmy L1 @
AAPQR) 16

In ALMN and APQR. ... (Given)

AGLMN) _ MN?
A(APQR) (Rr?
areas of similartriangles)
| MN?
202
-~ MN
20
3x[]

...... (Theorem on

... (Taking square roots)

" MN=

' 4
MmN
o MN=[_Junits
4) In 0 ABCD. seg AD /seg BC. Diagonal AC and diagonal BD intersect each otherin point P. Then

show that £ = E
PD BP




segAD lseg[ ] [Given]

~z 1= /PCB
...... 1 [Altemnate angles theorem]
In AAPD & ACPB

(i) 2PAD = | [From 1]
(i1) £APD = «CPB

I i

~ AAPD ~ ACPB [AA test]
.. -
" CP PB
b g [Altemando]
PD PB
. AP
ie. — =
PD

5) AMNT ~ AQRS. Length of altitude drawn from point T is 5 and length of altitude drawn from point
Sis 9. Find the ratio M .

A(AQRS)

AMNT ~ A]:] [Giv en]

M= /_Q
In AMAT & AQBS
LM = From 1
LMAT|E:|L:| : [Each]90°]
- AMAT~AQBS

CT™ _
' 3Q
AprvN) [ ]

 A(ASQR)  SQ°
[Theorem on areas of similar triangles]
_ A(ATMN) _TA?

* AGSQR) |:| [From 2]
_ AATMN) _ 5°
' A(ASQR) il
AQTMN) _
A(ASQR) |:]
Q.6 Solve the following questions 15

1) In A ABC point A on side BC is such that DC = 6, BC = 15. Find A(A ABD) : A(A ABC) and A(A
ABD): A(A ADC).

2) In below figure in A ABC, point D is on side AC. If AC = 16, DC = 9 and BP L AC, then find the
following ratios.



) A(ABD) . AMBDC) ... A(AABD)
A(A ABC) A(A ABC) A(ABDC)
A
P
D
B
(&

3) If a line parallel to a side of a triangle intersects the remaining sides in two distinct points, then the
line divides the sides in the same proportion.

4) In APQR, PM = 15, PQ =25, PR =20, NR = 8. State whether line NM is parallel to side RQ. Give
reason.

P
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B

R Q

5) In trapezium ABCD, side AB |lside DC, diagonals AC and BD intersect in point O. If AB = 20, DC
=6, OB = 15 then find OD.
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